FgArea: [0 ]
NC11 P3-14
2025-05-11 (Day 41)




f

r

—0— VO

A
|

1400 4+ —@— VI

1200

1000

800

600
400
200

40

35

30

25

20

15

10



VN

30

20

15

10

1200
1000
800 -
600 -
400 -
200 -






1400 ~

1200 ~

1000

800

600 -

400 -

200 -

1 VI vs Du

T
500

T
1000

T
1500
DU

T
2000

T
2500




| ©
<
| ©O
™
| ©
™
o]
N
| ©
N
| ©O
—
| ©
=
[a 4
L
— - o
—
+ -
F O
T T T T T T
© o < ™ N —
o o =) =) =) o



>
+
[}
»
—
——
+ :
T T T T T T T T
o o (=] o o o o o o
(s3] © < N o (s3] © < N
— — — — —

40

35

30

25

20

15

10



1 (fgArea = NA)

5500

5000

—o—
_+

EC1%10%
ECO

4500

4000

3500

3000

2500

2000

10

15

20

25

30

35

40




1
—&— PHI*10%

754 —®— PHO




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

lopt |
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14
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